artes Adst Yo7 2008 (o)

Section A — I8 Marks (1 mark each) NAME: CLASS:
- | - Section B - 18 Marks (2 :
- marks each) NAME: .
QUESTION _ WORKING ANSWER Moot = CLASS:
- 2a-5=4a+13
1 [ What is the complement of 28°7
Ta
2 | Simplify —.
phity 28
3 | Simplify 3x-6y-x+2y.
2. 565"
Write 0+00304599 correct to three P Bvaluate 207376

_4 significant figures. 0-033

5 ] Evalvate 2+87+23-45+0-63.

6 | Convert 2% decades into months,

- — ) 3. | Three brothers invest money in a business in the ratio 3:5:7
7 | Convert 2400 millimetres into metres. . The smallest amount invesied by one boy is $12000.

What is the total amount invested in the business by all the boys?

g | Change 11:12pm into 24 hour time.

9 | Write iO%% as a decimal.

What is the expression that is 6 less than

10

Sy+2? - _ - 4, | The number 100700413a00020001006 is divisible by 9, where a represents one of the digits.
i1 | Bvatuate /24 + 25, Co Find the value of a, giving reasons for your answer,
12 An octahedron has 8 faces and 12 edges.
| How many vertices does it have?
13 What number is halfway between 4-4 and

471

5. | Show that x =10 i i i =
14| Simgify: 36-3x5 is a solution to the equation 3x-7=2x+3.

15 | Bxpand: 4(3b.-2).

Find the perimeter of the rectangle with

16 | 1engeh Scm and breadth 17cm. -

17 | Change 6% into an impropet fraction. . 6. Simplify gl’i,.ﬂ,rﬂ
. 5 2 3

18 | Solve the equation 18 = 3
p 3
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l top view

T

side

/ fr‘ont view
view

Draw a 3-D solid which could be in the box.

top view

A solid shape is in the box. The shapes seen from the following views are shown below.

side view front view

( A& |

Section C - 18 Marks NAME: CLASS:

8. | Sam only plays soccer on Saturday. He played 2 game on 2nd August this year.

What was the total number of days he played soccer in August and September this year, if he
played a game every Saturday in both months? X

9. | The following table is part of Pascal's Triangle.

1 6 [5 20 15 1
L 7 1#1
1 8 :

a) The number represented by [*] is

b) James has & colours of paint.

The number of sets of 3 different colours he is able to choose is
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1. - ) Marks
The diagram below shows a large cube with a smaller cube removed from one corner.
Draw the net of this solid. . ’ . 2
/’("!’
2. | Bvaluate [(-5)-3]x[{-3)* +2] : : 2
3. | The diagram below represents a farm dam,
— 600m—>e— 600m —»  Use Simpson's Rule to estimate the area of the dam.
Give your answer to the nearest hectare. 3
not to scale
Iy
4.

A flag pole is erected so that % of the pole is below the

ground as shown in the diagram below.

- oo The section above the ground is 5 m high.
Calculate the total length of the pole. 2
5m not to scale
\|/ ground
T F Tevel
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Marks |

3. .
A garden is in the shape of a rectangle with a semicircle at one end as shown in the diagram below.
The dimensions of the rectangular section are 34 m by 28 m. -

a) Calculate the exact area of the garden. 2
{Leave your answer in terms of )
34m
flowen b) A flower bed in the shape of an isosceles triangle is
bed { constructed in the garden.
o r; — What is the perimeter of the flower bed? 4
not to scale
6. | Find the values of a and b in the diagram below giving reasons for your answers. 3

not to scale
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Section D - 18 Marks NAME: CLASS:

1. Marks
Reflect figure ABCD about line XY, 2

2. |a) Write down one number which has exactly 6 factors. 1
b} Write this number as a.product of prime numbers using index notation. 1
¢) What is the smallest possible number which has exactly 6 factors? 1

3. | Solve the equation for x 2
2x+1)-3(2x-3) =31

JRAHS 2008 Year7 Yeady = * Page §




The diagrams below show patterns formed with matchsticks.

Epm I E;;j_

| I 1

Py P, P

In Py there are 2 rectangles made with 1 matchsticks and in Pz there are 3 rectangles
made with 15 match sticks, .

Amy spends % the amount that Bob spends.

Amy saves 40% of her income,

What percentage of his income does Bob spend?

Amy's income is % that of Bob's income. i 3

2) Complete the table below relating the number of rectangles (RY and the number of 2
matchsticks (m}. _ .
R 2 3 4 10
m 1 15
by Write a formula relating R and m. 1
¢) How many complete rectangles are able to be made following this pattern with 100
maichsticks? 1
Marks
2

Prove that the line sepments AR and CD are parallel.

H
’ 1]
A _ 58 E B
68°
c 54° D
F &

7. | Aninlet pipe can fill an empty tank with Water in 2 hours, 2

An outlel pipe can drain all the water from the same tank when full in 5 hours.

How many minutes will it take for the tank (o be completely filled if both pipes are connected and
their valves are opéied when the tank is half full? ’
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END OF EXAMINATION
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The diagrams below show an octahedron and its net. The vertices on the octahedron are [abslled A to
F.

) A
' C
E
not {o scale
F

A
N

not o scale

The edge AB has been labelled on the net.

'a) The position labelied [#] is vertex .

b) Label the position of vertex F on.the net.

JA theatre stage is built using one cirevlar and two rectangular sections as shown in the
diagram below,

+——- 10m —»

Calculate the exact perimeter of the stage,
(Leave your answer in terms of )
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1
e

wes aasg_Ye7= 2008 (V!

'CLASS;

' Secfion A — 18 Marks {1 mark eac}l) NAME:

Section B - 18 Marks {2 marks each) NAME: CLASS:
Solge t‘ora

QUESTION WORKING ANSWER
. . te /
1 | What is the complement of 29°7 . ] /
. - s - . T q 7
2 | simplity 22. S, /%
28 - L S P
: = E ko
3 | Simplify 3x-+6y-x+2y. Qx.-#j @K”%"'ﬁ‘x‘
4 | Write 000308509 ctrrect to three OO o.00305 |0003X
) sngnlﬁcanl figures. =
5 | Evaluate 2:87+23: 45+0 63. 26,‘[‘.) / k sz
2 -f' Zﬂ . (lr,'([ /
6 | Convert 2— decades mto month: 2 %& “ES-Z_ o ( 2477»24\1011}}5 )(
- -5 . .
| 7 | Convert 2400 millimetres into metres. im= 1000mm 2,4y /
/
’
8 | Change 11:12pm into 24 hour time. . W!’Z; 23‘ { Z VA
9 | Write Ioi% asademmal O_'_io‘rS v
What is the cxpressmn that Is 6 less than ' 4
10) 5422 _ Oy 4
1. Eva!uate J24+‘25.' \['-%ﬁ\ 7 l/
2 An oclahedmn has 8 faces and 12 edges. ) é /|
“ | How many vertices does 1t have? ,
between 4+4 and -
M \:’}:jart}nﬂmber is halfway betwee 4‘ 55 ‘f' ‘ELIF /
b ¢ , e
14 | Stmplify: 36~3%5 265 721
. = s
15 | Expand: 4(3b.~2). % o Y
F O - /
Find the perimeter of the rectangle with /4. L
16 fength Scm and breadth 17em. -{' ? 0% ’
17 | Change GE into a?.!mpro?:cr fractmr?. | /('1, | /
' . .18 3
18 | Solve the equation " "3 wﬁ :3 O /
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Page 1

1.
IT
}., \

('_.‘2.3')
{8-5= ~%413 —
NQ(" l? ju_u/)? odt’)&, f C% #()q Joéyg R/

S SR Axe 13 T

g

/;?L ﬁfﬁ}bm @ aHbioels 7

% | Bvatuate 8-56-5-§
0-033 4 .56-5.6 = 3 C{é /
‘;p-(;'?a ' . /
Jab o 2,,16—- - 8L o
@I85 33

3. | Three brothers invest money in a business in the ratio 3:5:7.
The smallest amount invested by one boy is $12000,
What is the total amount invested in the business by all the boys?

i

4. | The number (007004 13a00020004006 is divisible by 9, where a represents one of the digits.

ot 'mu!’hlplg' . 0-{ ﬁ

Find the value of a, giving reasons for your answer.

a2,/

L @’ :
Caum ok dlgths  has ol fo b
a@nf'ﬁ"“’/ by 4)
5. | Show that x=10 maso[uuon\[ﬁtheequauon Ix-T=2x+3,
20-7 20 +3
21 - = Ly
6. sxmplfy——%H% /
75 "se t30- 7 %0 B0 20
SRAMS 2008 Year T Yearly —
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i

A solld shape Is in the box. The shapes seen from the following views are shown below.

l top view '
O : top view side view front view
/l j | | |
1 ———
stde
/ front i - i R
view

Draw a 3-I solid which could be in the box.

8; | Samonly plays soccer on Saturday -He played a game on 2nd August this year
| What was the total number of days he played soccer in August and September this year, If he
played a game every Saturday in both months?

Zod, Qth; 16th, 5

q tmes/

ot @y;m , 22_%]7,41114 :

9. | The following table is part of Pascal’s Triangle.

T 6. [ 15 [ 20 [ 15] 6 1
1 7 |

b} James has 8 colours of paint.
‘The number of sets of 3 different colours he is able to choose is

i 1 :
1 { 8 - . .
. R v
a) The number represented by [¥] is&ﬁ_ﬁ.’ . ] . éi Yy
'3 . |_;A
“é
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“Sectlon C - 18 Marks NAME: LLASS: '
1. ' ' Marks
The diagram below shows a large cube wuh a smaller cube removed from one coriter, -
Draw the net of thrs SDlld : 2
2. Evaluatc (=) -3]x[(<3)* +2] : J ' / 2
S IPIENE ?’33/
3. | The diagram below represents a farm dam.
= / .
— £00M-———s<— 600m ~——>  Use Simpson’s Rule to csfimate the arca of the dam.
g . Giveydur answer to the nearest hectare, 3
EOO 4200 Cgo@mao‘
T el o
Z7A,(\
4 . . . '
A flag pole is erected so that 3 of the pole is below the
L. ground as shown ip the diagram below,
. The section above the ground is 5 m high.
A Caleulate the total length of the pole. 2
5m itot to scale Z/
l ' m 3/
Ra ground - !
. Jevel 2.5m: 13 /
-~ 3 /
7 } -ofh - 3
&
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: Marks
A garden is in the shapc of a rectangle w;lh a semlctrcle at one end as shown in the diagram below
The dlmensmns of the rectangular section are 34 m by 28 m. .

(Leave your answer in terms of s}

U3,y 146 225 z01GE, W el e

'..x‘ 30m72f.q§€v7'|25quérn

34m

b) A flower bed in the shape of an isosceles triangle is

+f flower
constructed in the garden,

bed H'
“+—28m—

not to scale

L&m”

!f,,l

/\ . -
47?1 az"fb“" CZ / N /

4_$’Lu¢ - 2500, ¢TEo? 50

50x2 4 28 (2.8

l . a) Calculate the exact area of the garden, - 2

What is the perimeter of the flower bcd? 4

V =} Qs —7 .
Find lhe values of g and & in the diagram Wg reasons for Your answers. 3
: . -
. Y o

JRAHS 2008 Year 7 Yearly S . ) Page 3

Section D - 18 Marks

)

NAME: :
1. ) L : Marks
Reflect figure ABCD about line XY, - .2
2. |a) Write down ong numbe\r whlch has exactly 6 faclors. . 1
. 1,2,%,4%, @ 0z '
b) Wme this number as n.produet of prime numbcrs using index nctauon 1
c) What is the smallesl possnblc number which has exactly 6 factors? ’ _ -1
3. Solve lhe equation for x - l‘_) -~ ’ : - 2
goETT X=lyls
20+ 1y - 3% - 3) 3t T 9 =3/
2 3 Werk, 2x+2~€x 177 :
2 kB hm*d\ﬁﬁ%ﬁxa booa
. . : » 90
¥ b Bl gy ~4x = 2
x_ 2 =5
JRAHS 2008 Year7 Yearly * * N ‘ ’ Page 6



The diagrams below show patterns formed with matchsticks.

Amy saves 40% of her income.

Amy's income is -Z— that of Bob's indome. -~ . ‘ S 3’

Amy spends % the amount that Bob spends.,

What percentage of his income does Bob spend?

A2 956 Aoy _suuc\ ﬁ?.//}nd spencls/

Bi= % Beb  saves 32 Bob - spends %6
| f;wt/[ {

Beb~ saves  z6oi, o of Mis. income U ot

C 1 C1” ] o
e B e Lty
7 ] P
¥l - P, . . P?
In }’1 there are 2 rectangles made with 11 matchsticks and in P there are 3 rectangles
made with [5 match sticks. .
a) Complete the table below relatmg the number nf rcctang!es (R) and the numberof ~ ' 2
matchsticks ().
R 2 3 4
i 15
by Write a formula relating R and m1. ' . / ' 1
R b o 4432 m /
¢) How many complete rectangles are able to be made following this pattern with 100
- matchsticks? . ) ’ 1
24 S 24x143: 9] /
5. ﬁFQﬁ‘Jn _ Marks

Prove that the line segments AB and CD are parallel, Roty . Fiad /( AapfeLan) ofs ) 2

B,
N

TJaat Find £ 88D = 5¥°
' (‘Ve/hca”ﬁy opF )

Aﬁ /! @Cﬁﬁ/ 9500»/)

%

F ' G

Aninlet plpc can fill an empty lank with veater in 2 hours, 2

-An outles pipe can drain all the water from the same tank when full in, 5 hourg.

How many minutes will it take for tha Lank to-be compiete[y filled if both plpes afe eonnected and -
their valves are opened when the tank is half full?

. 4 loh [the ,o/./lofsr/ ‘_ f'”\‘": fin

o 10[ | She " 20t [ 10h¢

Z o T ¢
“/1,JJ ol

|
gede
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‘END OF EXAMINATION - K
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F.

A .
7‘/ not to scale

The edge AB has bcen labelled on the net,

a) The position labelled [#] is vertex D /

: b) Label the position of veriex F on.the net.

JA theatre stage is bu]lt using one circular and two rectangular sec:ions as shown In the
disgram below. ¢ b . - / / ' /

12, 66F 241 20 41O

-ééié'.ém

g’a-_ /,L’:: (2451

Caleulate the exact perimeter of the stage, q E 1 a.5 + :liDI’i (F/CC W (’ﬂﬂ '

- (Leave your answer in terms of sr) 25 m.

iF the fogger side =

JRAHSV‘ZOOS Year 7 Yearly Page 9 -

“The diagrams below show an octaliedron and its neét. THe veriices on the octahedron are labelled A to .



